| Efficiency vs Dxy |

> 0.8
<

S F
D Q.7 bbb S HARACR! SEUTECE SRS
> C :
o F 5
.90.6:— """""""""""""""""""" R
S
T 0.5t .
O s ety T S
0_3:_ .................................. ...................................
O ey ey e S
0_1:_ .................................. ...................................
IS -
x B
1— ---------------------------------- L S L AR R P

T

57210 =5 0

510 15 20
TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt
—— DQM_fitted4_1000evt

1.2

efficiency vs dz

0.8

0.2

....................................

..................................

DQM fit nocpe 1000evt

Ratio

0 0

20 30
TP dz (cm)

10




	Contents
	Page 1


